PUNTUACION /6

COMPRENSION ORAL - TASK 1 (1 x 6 = 6 marks)

Listen to 6 short extracts related to wild animals. Match each extract (1 to 6) with the best
description (A to G) and write the letter in the appropriate box. One of the letters does not
correspond to any extract. The first extract is an example. You will hear the whole recording
twice.

WILD ANIMAL TRIVIA

DESCRIPTION EXTRACT ANSWER

Exa)r(nple FLOATING FOR AIR EXAMPLE X
A A GOOD PAINTER EXTRACT 1
B ANIMAL SUPERSTITIONS EXTRACT 2
C ANIMALS THAT CURE EXTRACT 3
D LEGS LIKE NO OTHER EXTRACT 4
E SILENT ANIMALS EXTRACT 5
F SPORT LOVING ANIMALS EXTRACT 6
G SURPRISING SAFETY REGULATIONS
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COMPRENSION ORAL - TASK 2 (1 x 7 = 7 marks)

You are going to listen to three people reviewing audio books (the presenter, a
man and a woman). For questions 1 to 7, choose the option (A, B or C) which
best expresses the information in the text and write the letter in the
corresponding box on the right. Question 0 has been completed as an
example. You will hear the information twice.

AUDIO BOOK REVIEWS

PUNTUACION

/7

Example:
0. The audio books under review are ..........

A One non fiction and one fiction.
B Two non fiction and one fiction.
C Two non fiction and two fiction.

. The first book they discuss is ...
A an autobiography.

B a biography.

C acontemporary book.

. According to the man, the book he has chosen is ...

A absorbing.
B badly written.
C complicated.

. The woman thinks the book ...

A described too many clothes.
B didn’t have enough colour.
C had too much colour.

. What the woman liked best about The Potato Factory is ...

A the characters.
B thelanguage.
C the plot.

. According to the man, the reading of the audio book is ...

A  confusing
B excellent.
C toolong.

. The presenter’s choice is ...

A from an author he dislikes.
B neither historical nor literary.
C not primarily historical.

. Who liked The Time-torn Man?

A Both of them.
B Only the man.
C Only the woman.

INGLES - NIVEL INTERMEDIO — JUNIO 2010

11




PUNTUACION
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COMPRENSION ORAL - TASK 3 (1 x 7 = 7 marks)

You will hear a conversation between an employer and an employee. Read
through questions 1 to 7. Listen carefully and fill in the gaps with up to
THREE WORDS. Question 0 has been completed as an example. You will
hear the whole recording twice.

A GREENER OFFICE

Example:

1. The company shoulduse ........................... pens.

2. Gordon thinks that you cannot ........................... standard paper from the best recycled
paper.

3. The employer wants to talk totherestof ........................... about the coffee machine.

4. Anelectric .........coooiiiiiiinn. would be more environmentally friendly.

5. The company could save about £200 per yearintheir ........................... :

6. Gordon would liketobe ..........ccocvvviiiii.. )

7. The employer wants Gordon to write a proposal aboutthe ........................... he wants to

make.
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